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Section 3.3

Algebra ll: Factoring Trinomials—Two sums

Essential Questions:

H@(A) 6[5 1 ~F§(;{—5(- a'/‘(‘snomfg;o intkp  Ttoo b\nommﬂj?

Multiply the Binomials. :
o (¥+ 2)x + 3) The first term times the first term is __ X

5

. (@3) The first times the second term is_\.* t 3X

o (x+ @) The second term times the first term is Xz L& £

e AND the second term times the second term is X% +3%X € 2X 4§

o After you combine like terms, your final answer is__ X ? +SX ¥

NEW NOTES
Now reverse the process to find the factors. (x? + 5x + 6)
" e (x% +5x+6)=( ) ( ) Draw the parenthesis
e (x* +5x+6)=(x ) (x ) The first terms must give you x?.

e (x2+5x+6)=(x D& ?)
Find what two numbers MULTIPLY to g_jve you 6 and ADD to give you 5.
o (x+2)(x+3)=x*%+5x+6)

Factor Example 1 X"} + )X 110
s Step 1 (x )X )

« Step 2 What adds to get i

1!

2+ 5

e Step 3 What multiplies to get___ | 0 = 3IX S

e Stepd (N4 D (Y +S)

Check (@)

X*+EKFIX+Io
XX +10




Name

Factor Example 2 N7 tiax +ib
©oStePl Gk Xy )

Step 2 What adds to get (0 = 218

HP pull ng

Step 3 What multiplies to get
N

Step 4 (@5 )

Check X+ X tax +ib
NE 10K G

Class Practice
Name all possible pairs of factors. (make a factor tree)

Lo b A AL 22 16
l’:",—o e 1+9 144 [~ (e )o RTP! /i
343 4+ d+lo A+ A48
Jd <+ 5 5 Y+ & 34y 44y
a4l 22, f
[ =2l [+ as :1 350
; ~
247 5§45 3440
Factor A
1
X2 4gx +1 %7+ 3%+ 30 4+ e + 30
Cx+ 1) (K 7) (Xrio)(x £3) (r+S)(r+tb)
If you multiply to get this: And add to get this: Then the two numbers are:
C‘] { 2 a~d 3
/¥ L D and 9
ol‘/ /D L! ansd (p




Name

Factoring trinomials—two sums.

Compiete

If you multiply to get this: And add to get this: Then the two numbers are:

1) 18 11

2) 5

3) 6

4) 8

5) 12

6) 12

7) 9

8) 15

9) 14

10) 18

OO O ||| D

11) 20

12) 21 10

13) 24 14

14) 24 11

15) 36 12

16) 36 13

Factor

17)x2+8x+7=(X+ D)X+ ) 18) X*+9X+20=(X+ )X+ )

19) nZ+7n+6=mn+ Jnt+ ) 200 r2+10r+21=(+ )(r+ )

Factor and check by multiplication.

21)y* +3y +2) 22) a® +17a + 16 23) y2 + 12y + 35

24) x?% + 9x + 14 25) x2 +12x + 32




